il

g
=
s
i

1. ¥¥4
¥4 S0 6 FE RN SRMX ZEEHERE (t01) %5
JBA T IR || = E s N

2. EBEAR
1) FEF4 ERHA ) EREFH AT FiskiAkaR
242 H 4 H &f1 74 3H 4H

2) JEITHIM
= 4Sfn THE10H31H

3) &FEtHM
AFEBIT, KT ERFREITHEORTE AP LE L 72 D LEBORGHI LB

WEREZIT O bDOTH D,

4) FEHBNA
AL, EERER) oLkb,

E+sZi@E SN



PR NER =

Tl
P

¥4 | A6 EERE) IS HMX OEBIERE (F01) ¥£5 ¥ HYE A
H H — A
THH - THE - FER BT #H = 4 H A B ER
— AR = 1 14, 510, 568
B AT 2V 1 12, 769, 797
HgAR—1 > X 1 1,064,580 | HEAR—V 7 (F—LarR—
) 4.1 m
KEPEL « S b, BOmEE~80mLL T, AT
T, ¢ 66mm
TER-V T (a7 R—1
) 50. 7 m
b« W+, 50mB~80mEL T, $0E T 7
, ¢ 66mm
BN — 1 > 7 L 1 119,120 | PEA—V 7 vari—Ir
7) 1.9 m
REMEL - L R, BOmBL T, 80 T, ¢
86mm
TEA=V 7 rari—y v
7) 4.8 m
- WHE T, 50mPA T, #1718 T 75, ¢ 86mm
AR —U o7 = 1 1,279,344 | TER—V 7 (F—NaTR—1
) 54.7 m
- W, 50mtB~80mLL T, $hE T 77
, ¢ 66mm
+ER—=V 7 (A —na7R—V
) 5.3 m
BHR T Y 0P, 50miE~80mLL T, $hiE T
77, ¢ 66mm
AR —1 > = 1 1,064,580 | HEAR—V 7 (F—LarTR—1
) 4.1 m
FhME At o 2L N, 50mEE~80mEL T, $PiE
T77, ¢ 66mn
HEHR—V T (A= aFR—1

-1- E+sZi@E SN



m
2
%

==
=]

¥4 | A6 EERE) IS HMX OEBIERE (F01) ¥£5 ¥ HYE A
H H —FRA
THH - THE - FER BT #H = 4 H OB N AR
) 50. 7 m
b« WYE +, 50mEE~80mLL T, $0iE T )7
, ¢ 66mm
R — 1 > 7 2y 1,248,808 | HER—V v/ (A —aTR—1
N 54.7 m
i - WYE 1+, 50miB~80mEL T, $0IE T 5
, ¢ 66mm
HER—=Y 7 (F—ar7iR—V
) 4.5 m
HBHE T 0 05, 50mEB~80mLL T, $hiE T
77, ¢ 66mm
MR —1 7 =X 245,860 | TEAR—Y 7 () variR—U v
7) 4.7 m
- WE L, 50mEA T, $R1E. T 75, ¢ 86mm
TER—=V T (s rari—1 v
7) 4.5 m
R UV 2Hp, 50mEL T, $RTEL 77, o 86
mm
MR —1U v = 1,390,037 | HEAR—=V 7 (F—narR—V
) 54.7 m
W« WY L, 50mtE~80mEL T, $AE T 7
, ¢ 66mm
TER—V T (F—NaTR—1
) 8.2 m
BHR T Y 105, 50miE~80mLL T, $hiE T
77, ¢ 66mm
AR —1 > 7 = 375,360 | HEAR—V 7 () rarR—y v
7) 4.7 m
b - WE L, 50mPL T, $RE T 5, ¢ 86mm
TER—-V 7 () vrari—Ir
7) 8.2 m
AR U Y 0), 50mEL T, $R1EL T )7, ¢ 86

TAZEE TN R



N

==
=]

—=H
Sk
i
Tl
>

3 23|
¥4 | A6 EERE) IS HMX OEBIERE (F01) ¥£5 ¥ %ﬁﬁﬁ
HH — R
THHE - THE - R BT B & 4 OB RR
mm
P71 7 ROTRLERE: = ! 3,367,900 | IRIEEARER " -
oL i I I N
A AR
267 B
W wE L
A AR
20 B
BER U Y
LR AR R
3 [=]
FBGiE D)
— : 2,248,200 | i O ERER
ENHBR = ! 60 Skt
ToEK R .
60 ok
Lok i
60 ok
TR AR )
60 v
ROV .
60 B
LW AR )
60 B
AT £ 1 187,008 | firthr & 1 "
R #: 1 169,000 | #Ef-RRALEREY X "
pressTy 7= 1 10, 000 | FMREESE 5 *
HEAER = 1 1,740, 771

-3 - E+sZi@E SN



==
=]

m
2
%

W4 | D6 EE KR SRR O ERBIETE (Fo1) ¥(5 E B FRA
H H — R
THH - T - R A7 ¥ & & KA OB ORR
e 7 1 112,334 | iR
1 =X
el 2 2y 1 410, 360 | ¥Ef K O 41T
1 =X
PN RS
1 =
FHAFLEAZE
1 =X
K E (R 7ER)
1 A
ey 2, 1 855,700 | SRR
1 A
TR A X 1 273,059 | fr# (& E - 151A%8)
1 A
Wi T PRy = 1 89, 318 | fii LA HEE
1 A
EESHE R+ WEREE = 1 14, 510, 568
R = 1 9, 379, 432
RORRE = 1 9, 379, 432
— IR = 1 23, 890, 000
AT A = 1 1,128, 026
EHEEGE = 1 1, 128, 026
AT A = 1 1,128,026 | FmE%EfE
1 e
SRR A

-4 - E+sZi@E SN



== /oA W =
B PNER
W4 | D6 EE KR SRR O ERBIETE (Fo1) ¥(5 E A
H H TSR A
THH - T - fER] A7 # OB ORR
1 =
EiSG = 289, 800
Hei 52V 289, 800
revss =X 289, 800
1 X
EEEM (F s MR <) =X , 417, 826
Z DA =Y 763, 499
— BB = , 168, 675
fRNT SR A = , 350, 000
TRASSE = , 240, 000

E+sZi@E SN



